CH 223 — Worksheet 5

1. Write the formula for each of the following
a) tetraaquadibromomanganese(IIl) perchlorate
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2. Write the name for each of the followmg
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3. a) Draw the two linkage isomers of [Co(NH,),SCNJ** N H g Uf"’j;
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4. (a) How can w% calculate AS for an 1sotherma1 process‘7 (b) Does AS for a process depend on the path
taken from the initial to the final state of the system? Explain.
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5. Indicate whether each of the following processes produces an increase or decrease in the entropy of the
system:

(a) CO, (s) = CO, () g \) A rep S
(b) CaO (s) + CO, (g) — CaCo, (s) b ) Aecrease
(c) HCI (g) + NH, (g) —» NH,CI (s) C) e ccease
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